Side step - Right / Jumper Ducato Boxer 06-

Movano 22- ltem no: AT245XXH-S
Contents - QMK0024

# No Iltem no Description

A 2x 23032021 Mounting bracket Sliding Door Right
B 1x 23032023 Mounting bracket

C 7% 7985T0600304 Bolt Torx A2 M6x30

D 7% 7570600000 Nut M6x18,5

E 7X 125A064 Washer M6

F 4x 985Vv084 Nut M8

G 4x 933080304 Bolt M8x30

H 4x 125A084 Washer M8

Contents - QAT1200

# No Item no Description

1 1x SMV3109 Step

2 1x 23012001 Plastic cap right side

3 1x 23012002 Plastic cap left side

4 4x 933080204 Bolt M8x20

5 4x 985V084 Nut M8

6 4x 125A084 Washer M8

7 2x 7504NT0350092 Self-tapping screw

8 1x ULS812 Reflex, white (forward pointing)
9 2X ULS804 Reflex, yellow (sideways pointing)
10 2x ULS805 Reflex, red (rear pointing)

X X aEmp X X

AN X X X X RO

o

o
9
® &

SIMIARTVAN v

+45 5810 1200 / info@smartvan.dk



Side step - Right / Jumper Ducato Boxer 06-
Movano 22- ltem no: AT245XXH-S

Front = » Rear

».«' ' T Side step -~ B

SIMIARTVAN o 2

+45 5810 1200 / info@smartvan.dk




